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:  Setup

(Par.
7 (

Max 10x; + 9 X,
S.L.
0.7 X, + X, < 630
0.5x; +0.8333 x,< 600

X, + 0.66667 X, < 708
0.1x;+ 0.25x,< 135
X1, Xo 2 0
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Select A Module

. Linear Programming

. Transportation

. Assignment

. Integer Linear Programming
. Shortest Route

. MMinimal Spanning Tree

‘ | % Select A Module

\ \ MS60 |

7. PERT/CPM

8. Inventory

0. Waiting Lines

¢ 10. Decision Analysis
" 11. Forecasting

= 12. Markov Processes
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N

Objective Function Value = 7667.99463

Variable Value Reduced Costs
539.99841 0.00000
252.00113 0.00000

Constraint Slack/Surplus Dual Prices
1 0.00000 4.37496
2 120.00000 0.00000
3 0.00000 6.93753
4 17.99988 0.00000
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Objective Coefficient Ranges

Variable Lower Limit Current Value
6.30000 10.00000
6.66670 9.00000

Upper
13.49993
14.28572

Right Hand Side Ranges

Constraint  Lower Limit Current Value
1 495.59998 630.00000

2 479.99930 600.00000

3 580.00146  708.000000

4 117.00012  135.00000

Upper
682.36316
No Limit
900

No Limit

E—>
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(reduced costs)

Xj,

C;

X, =540 >0, X,=252>0,

<) k=0
<) s|ack =0

b

(Objective Coefficient Ranges) — —
c, =10 €[6.3, 13.5]
- ( Right Hand Side Ranges ) — —
; b =630 € [495.6, 682.4]
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100%4%
100%, 100 %

b, = 630—> 650
b, = 708— 808
(495.6, 682.4) / (580, 900)
5 Ab
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20 N 100
682.4—-630 900-708
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max z = max 90x; + 84x, + 70x; + 60X,
S.t.

10x; + 8%, + 9x;5 + 15x,< 5000
2Xq + Xy + 3X3 < 1800
X;+ X, + X3 + X, =600
X3 > 150
X1, Xy, X3, %X,20




X, reduced cost = 45:
45, 60+45=105,

150 ) dual price =-17:
, 17
: 17







The End of Chapter 3




